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alphal3_4eX1X
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alphal3_4eX1X:cyclenum {run == 8004}
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cyclenum

delta46_12X4eY:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
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o

8006
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8004
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8003
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8002

alpha46_4eY4aY:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128

cyclenum

run:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
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05

deltal3_12X4eX:cyclenum {run == 8004}

L
10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

segment:cyclenum {run == 8004}

10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum




usl_4eY

20
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usl_1X:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usl_4eY:cyclenum {run == 8004}

b S SRS
PO PPN PO
1 510125.5 10126 10126.5 11 710127.5 10128

cyclenum

usl_12X

usl_4aY:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usl_12X:cyclenum {run == 8004}

S S S S * .

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usl_4eX:cyclenum {run == 8004}

T Y i i
156 10126.5 1(H§7 10127.5 10128

cyclenum

run:cyclenum {run == 8004}

8006
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8005
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8004

3003.5

8003

3002.5

SO N T T T PP TP T T
10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum



usr_1X:cyclenum {run == 8004}
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10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usr_4eY:cyclenum {run == 8004}
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cyclenum

usr_4ay

usr_12X
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o

usr_4aY:cyclenum {run == 8004}

usr_4eX

10125 10125.5 10126 10126.5 10127 10127.5 10128

cyclenum

usr_12X:cyclenum {run == 8004}
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3004.5
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10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usr_4eX:cyclenum {run == 8004}
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cyclenum

run:cyclenum {run == 8004}

8006
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10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum
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usl_coill:cyclenum {run == 8004}

1 510125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usl_caoil6:cyclenum {run == 8004}
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10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
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600
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3000
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usl_coil3:cyclenum {run == 8004}

510125.5 10126 10126.5 10127 10127.5 10128
cyclenum

usl_coil7:cyclenum {run == 8004}

obesfeces i
1 510125.5 10126 10126.5 1 710127.5 10128

cyclenum
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8005

3004.5

8004
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8003

3002.5
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usl_coil4:cyclenum {run == 8004}

1 510125.5 10126 10126.5 10127 10127.5 10128
cyclenum

run:cyclenum {run == 8004}

10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum




—-2000
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-3500

usr_coill:cyclenum {run == 8004}
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cyclenum

usr_coil6:cyclenum {run == 8004}

I3 T ha i
10125 10125.5 10126 10126.5 10127 10127 5 10128
cyclenum

usr_coil3:cyclenum {run == 8004}
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L
10125 10125. 5 10126 10126 5 10127 10127.5 10128
cyclenum

usr_coil7:cyclenum {run == 8004}

35000

30000

25000

20000
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cyclenum

usr_coil4:cyclenum {run == 8004}
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cyclenum

run:cyclenum {run == 8004}
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8003
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10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum



1X_coill:cyclenum {run == 8004}
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cyclenum
4eX_coill:cyclenum {run == 8004}
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cyclenum
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1X_coil3:cyclenum {run == 8004}
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1 510125.5 10126 10126.5 10127 10127.5 10128
cyclenum

4eX_coil3:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
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1X_coil7:cyclenum {run == 8004}
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cyclenum

4eX_coil7:cyclenum {run == 8004}
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cyclenum



yclenum {run == 8004}

4aY_coil7:c

yclenum {run == 8004}

4aY_coilé:c

yclenum {run == 8004}

4aY_coild:c
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cyclenum
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yclenum {run == 8004}

4eY_coil7:c

yclenum {run == 8004}

4eY_coilé:c

yclenum {run == 8004}

4eY_coild:c

10125 10125.5 10126 10126.5 10127 10127.5 10128
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10125 10125.5 10126 10126.5 10127 10127.5 10128
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cyclenum
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cyclenum



12X_coill:cyclenum {run == 8004}
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10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
12X_coil6:cyclenum {run == 8004}
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10125 10125.5 10126 10126.5 10127 10127.5 10128

cyclenum
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12X_coil3:cyclenum {run == 8004}

L
10125 10125. 5 10126 10126 5 10127 10127.5 10128
cyclenum

12X_coil7:cyclenum {run == 8004}

10125 10125.5 10126 10126.5 10127 10127.5 10128
cyclenum
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12X_coil4:cyclenum {run == 8004}
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10125 10125 5 10126 10126.5 10127 10127.5 10128
cyclenum

run:cyclenum {run == 8004}

10125 10125.510126 10126.5 10127 10127.5 10128
cyclenum
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